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. TR A FOMK-3 O ZBEARK LY EERIEE 26°C. FEXHEE 50% DOIRERIEE . &
JEIREE 7, MRHEE o . A v B IO 2 A — AERD X,

h=52.9kJ/kg (DA)
‘ £ =147C. ¢=50%.
6 =50% v =0.862m’/kg(DA). % =52.9k)/kg(DA)

\ L x=0.0105kg/kg(DA)
SN p=18.7C

t=26°C  v=0.862m3 /kg(DA)

2. HEUWEREE p=101.325kPa O & T, #&zeim, = 0.8kg OH1Tm = 6.49 DKAHRR S

TV 25K & LT, T ZE[ DM 2 5K D X,

-3
X = mﬂ _ % — 0.008kg/kg(DA)

a

WL =15C, =y & —h =27.0kl/kg(DA) D74 100 kg(DA) % ME L T .
t, =28°C. h, =40.13kJ/kg(DA) & L72\, =0 & & OAEEITN S 6,

Q=m,(h, —h,)=100x (40.13—27.0) = 1313kJ

4. WCERIREE 28°C. FHAHEEE 60% DI Y 22554 15 CE TWHAI L7z & & O AR & EEifE /K &

2 ) 22 &V SR X

2 AR X X, = 0.0142kg/kg(DA) D & fafnzeXifft & DR R LD 19.56C L5,

e K & m,, 1
m, kg = (m, kg(DA)){(x, - X, )kg/kg(DA)} =(0.0142 - 0.0106)} m, =0.0036kg x (M, kg(DA))
L72h3o T, #EZE5m, 28 1kg(DA) &7V 0.0036kg (3.6g) DEEFEAKBAEL 5,

¢ =60%
e x1=0.0142kg/kg(DA)

x2=0.0106 kg/kg(DA)

t2=15C =19.5C #©=28C



